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¥Us (3H): Section (A)

TEIfATS T (( FI$ 3 ) YA+ 2 IF  3x2=6
1 s afora qEId P g1 g%' o4t ? When was the book Vedic Mathematics Published?

A 1960 B 1965 C 1970 D 1865

2 gf¢ X-6=8 G’f?ﬂXWﬂﬁﬁ'ﬂT:ifX-6=8,thenthevalueowaiIIbe:

A2 B8 Cc1l4 D1

3 9 THEEY SIS Y AT I3 IIF e § @ wHT 9y B St 7 |

When compound interest is calculated half yearly, then the period becomes
A g Double B 3T Half C U& ©U$ One fourth DSaH & CaE A& None of these

4 FiT @1 3T BIET & ? which one of the ratios is smaller ?
A 3:4 B 5:6 C 7.8 D 17:15

gus () : Section (B)
TETT WA ;. (P 3) 9% 33HF 3x3=9
1 99 3R 37111@' FTE? HHSITST | What is square and square root? Explain.

2 qﬁw FT § ? What is antilogarithm?
3 AT T % ? What is proportion?
4 3taa fFA F&d & what is called average.

5 gfaerddr 4T & ? What is the percentage?

@Us () : Section (C) 5 3{% 5x1=5
6 9e¢ yfafee 7 U F1H F&F 20 A H 24 ¢aa 97 Fha &1 12 d¢f yfafesT 6 o FH FF
36 a9 9T H fhder feaT oA

6 carpenters working 7 hours a day can complete 24 tables in 20 days. How many days will
12 carpenters working 6 hours a day take to complete 36 tables?
Or

REse & F7 Aza a1 AP Aea W 25% a1 &1 3T § AFT A7 W 20% @19

Show that the profit of 25% on purchase price or cost price means 20% profit on selling

price.



